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Show your work.

1. Change 128.433° to degrees, minutes, and seconds S
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2. Write 21°44°3” as a decimal to the nearest thousandth of a degree.
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3. Give the angle measure represented by 0.5 rotations clockwise.
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4. Identify the coterminal angle between 0° and 360° for the angle 480°.
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5. Find the measure of the reference angle for 1046°
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6. If cos 8=0.5, find sec@. 7. Find cot (-180°).

: : \ —\ E
_T\'\e,lﬂ Axe TVecipyrocals. UsSe Cot ( l%(')\ = b5 LU/LCL!L%
|Sec & = 2- )

8. Find the exact value of cos 135°. 9. If 0°<x<360°, solve the equation tan x = -1.
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10. Assuming an angle in quadrant I, evaluate cos(tan™ 3) = /i 5

For 11-13, refer to the figure at the right. Leave as exact answers.

11. Find the value of the sine for £ A4.
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13. Find the value of the secvzlmt for £ A.
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14. Find the exact value of{sec &)for angle & in standard position if the point at (-3, 2) lies on its
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15. Suppose & is an angle in standard position whose terminal side lies in Quadrant IV
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For 16 and 17 refer to the figure. The angle of elevation from the end of the shadow to the top of
the building is 70° and the distance is 180 feet.

16. Find the height of the building to the nearest foot.
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17. Find the length of the shadow to the nearest foot.
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18. Given the triangle at the right, find B to the nearest tenth of a degree if 5= 10 and ¢ = 14.
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19, Determine the number of possible solutions if 4 =48°, a=5,and b= 6. ¥ ° g
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20. In AABC,a=2.4,b=8.2,and ¢ = 10.1. Find B to the nearest tenth of a degree.
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21. Ifa=12, =130, and ¢ = 22, find the area of A ABC.
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22. In AABC, A=47°15", B=158°33", and ¢ = 23. Find b. \f))
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23. InAABC,A=322° b=215andc=113. Fmdtheareaof ABC.
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24, Given the triangle at the right, find ¢ if 4 =37° and b = 6.
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25. A ship at sea is 70 miles from one radio transmitter and 130 miles from another. The measurement
of the angle between signals is 130°. How far apart are the transmitters?
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